Puissances de Dix (G)

Trouvez chaque produit ou quotient.

7,54 X 0,1 = 8,8x0,1=
7,8+01= 8,8 X 0,001 =

4,1 x0,01= 8,996 x 0,001 =
9,96 - 0,1 = 9,36 X 0,001 =
7,243 - 0,01 = 443 x 0,01 =
2,3+0,01= 3,8+0,1=

7,6 = 0,01 = 9,55+0,01=
6,1428 x 0,001 = 4,4891 x 0,001 =
9,1442 x 0,001 = 8,1 x0,01=
3,4+0,001= 4x01=
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Puissances de Dix (G) Solutions

Trouvez chaque produit ou quotient.

7,54 x 0,1 =0,754

7,8+0,1=78

4,1 x 0,01 =0,041

9,96 +~0,1=99,6

7,243 + 0,01 =724,3

2,3+0,01=230

7,6 0,01 =760

6,1428 x 0,001 = 0,0061428

9,1442 x 0,001 = 0,0091442

3,4+0,001=3400

8,8 x0,1=0,88

8,8 X 0,001 =0,0088

8,996 x 0,001 = 0,008996

9,36 X 0,001 =0,00936

4,43 x 0,01 =0,0443

3,8+0,1=38

9,55+ 0,01 =955

4,4891 x 0,001 = 0,0044891

8,1 x0,01=0,081

4x01=04
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